1/4" DIA. BOLTS

REV DATE

DESCRIPTION

ECO | BY | CH'K.

A | 11/13/2019

NEW DRAWING

52486 | IL KC

*** BILL OF MATERIAL - TMH263SS (25005846) ***

PT NO.| ITEM NUMBER | CATALOG NO. | QTY DESCRIPTION
1 054065 25X100HSSB 2 |BOLT, SSTL, HEX HEAD 1/4-20 X 100
2 058493 25HSSN 2 |HEX NUT,1/4" STAINLESS STEEL
3 060218 25FWSS 4  |1/4 FLAT WASHER, STAINLESS STEEL
4 060672 25SWSSLT 2 [1/4 SPLIT WASHER LW LT

**k BILL OF MATERIAL - TMH264SS (25005847) ***

PT NO.| ITEM NUMBER | CATALOG NO. | QTY DESCRIPTION
1 25021602 25X125HSSB 2 |BOLT, SSTL, HEX HEAD 1/4-20 X 1.25
2 058493 25HSSN 2 |HEX NUT,1/4" STAINLESS STEEL
3 060218 25FWSS 4  |1/4 FLAT WASHER, STAINLESS STEEL
4 060672 25SWSSLT 2 [1/4 SPLIT LOCK WASHER LT, STAINLESS STEEL

l::'

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES
1-800-346-4175 (LONDONDERRY, NH)

CANADA:
1-800-361-6975 (QUEBEC)
1-800-387-6487 (ALL OTHER PROVINCES)

FOR PRODUCT INFO: http://www.burndy.com

STAINLESS STEEL TONGUE MOUNTING HARDWARE

ITEM NO: SEE TABLE

CAT. NO: SEE TABLE

DRAWN BY: JL.BERGERON 11/13/2019

CHECKER: K.CASTONGUAY 11/13/2019 .
DSN APRVL: K.CASTONGUAY 11/15/2019 °

DSN APRVL: S BURNDY
QA APRVL: T.WATTS 11/15/2019

MKT APRVL: K.BOUTIN 11/15/2019 |

PROD FAM: OTHER WIRING ACCESSORIES DRAWING NO REV
PROJECT #: FPN SIZE

DOCUMENT TYPE: SALES C 50106585 A
REL LEVEL: Released SHEET 1 OF 1




